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HPAS (M)—2014

AGRICULTURE
Paper II
Time : 3 Hours Maximum Marks : 150
Note — Attempt Five questions in all. Question No. 1
is compulsory. All questions carry equal-
marks.
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1.. (@) Discuss the significance of Integrated Pest
Ménagement (IPM) in crop production. Suggest

&)

suitable IPM measure_s- in sugarcane. 15

How is Mendel’s law of inheritance important
in plant breeding ? Explain with suitable
examples. - | 15

P.T.O.



} =

3.
s

-

( 2 ) Agri-IT

(37) HEdA ISOEA A gHf=a e gg=q (STE.U.TEH.)

(=)

(@)

(b)

(=)

% wgea Wy w=f wfsw = ® sUgEd
. Ot TH. 39 s A | | |
T ? Suysa Saredl | fed SHmE |

What is protected cultivation ? Give its objectives

and principles. Discuss in brief package of cucumber

cultivation in greenhouse. 15

Write the principles of preservation of vegetables
and fruits ? Describe the method of apple jam

preparation. 15
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Write production technologies of any three of the
following x 3;<10=3O
(@) Cabbage
(b) Chilli
() Rose
(d) Chrysanthemum
(e) Ridge gourd.
N
(37) TrEHt
(=) a4
(|) T

() eSS (TSR

(A) &I

P.T.O



4 )

Agri-11

Write down the causal organism, symptoms and control

measures of the following diseases :

(@)

®)

(c)

(d)

(e)

@

(h)

@)

0

Bacterial leaf blight of rice
Bacterial stalk rot of maize

Ergot of Bajra

Stem rot of Arhar

Ye}low mosaic of greengram

Wilt in sugarcane

Black scurf of p(;tato

Curd rot in cabbage and cauliflower
Crown gall in apple

Wilt in carnation.

10x3=30
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Discuss in detail any three of the following :

(@)

o)

(e)

(d)

3x10=30

What 1s pﬁreline ? Discuss the relevance of pure
line selection in plant breeding.

What is roughing ? Gi\?e its impbrtance in quality
seed production.

Give relevance of Intellectual Property Right

(IPR).

What is hybridization ? Discuss the techniques of

hybridization.
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Write short notes on the following : 5x6=30

(a) DNA fingerprinting in plant variety registration

b) Ug 99 and wheat cu?tivation

(c) Molecular markers and atrar;sgenics

(d) Nuclear Polyhydrosis Virus (NPV) and its merits

(e) Use of induced mutation in plant breeding.

PT.O.
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Describe the production technology of any three of the

| following : 3x10=30

(@) Apple
(6) Orange
() Banana

(d) Guava.
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Answér the following (Multiple Choice Questions) :

15x2=30

(1) Recessive trait is seen when a modified allele

produces :

(@) Normal enzyme

») Non-functional enzyme
(c) No enzyme

(d) Both (b) and (¢)

P.TD.
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Which of the following is correctly matched 7 -

(a) Mendelism — Genetics of haploid
- (b) Polydactyly — X-linked deminant

(c) Blood group _— More than two forms
of a gene
() Lethal gene —  Phenotypic ratio
i - .2 : 1
The number of phenotype in the progeny of selfing
of a dihybrid involving two genes in which one

gene is completely dominant and other is completed

by dominant would be :

(a) Four
(b) Six
(c) Nine

(d) Sixteen
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The pattern of inheritance of white eye colour jn
Drosophilla shows that the gene is :
(@ Located on X-chromosome
&) Located on Y-chromosome
(e) Located on an autosome
(d) Sex-linked

In Antirrhinum majus when a pink flowered plant
is crossed with red flowered plant then total 120
plants are obtained. What will be percentage of

phenotype in offspring ?
(@)  100% red flowered
b) 50% \;vhite flowered
(e) 75% pink flowered
) 50% pink flowered

P.T.O.
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(6) In mango squash (°Brix-18, acidity-0.2%), how much

quantity of potassium metabisulphite (KMS) is added

-

in 1.0 kg fruit juice ?
(@ 243 g
@b) 343 g
e 443 g
@ 5.43 g

(7 Parentage of “Amrapali” hybrid of mango

are

(@) Neelum x Mallika
&) Dashehari x Neelum
-(c) Neelum x Alphonso

) Ratna x Alphonso
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Foundation seed has ............... colour tag.

(@) Green

b) Golden
(c) Blue
(d) White

January-February flowering in pomegranate is

known as :

(@) Mrig Bahar

b) Ambe Bahar

(c) Hasta Bahar

(d) None of the above

Powdery mildew in Ber is caused by :
(@) I zizyphi

(b) Alternaria spp.

(e) Phytophthora spp.

(d) Oidium zizyphi

P.TCQ.
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(11) Crop geometry of spring-summer season okra

is :

(@) 60 cm x’30 cm
b) 45 em x 30 cm
(c) 60 cm X 60 cm
(d) 60 cm x 45 cm

(12) Causal organism for “Gummosis™ in citrus

is :

(a) Phytophthora spp.
b) Xanthomonas spp. ‘
(c) Alternaria citri

(d) Glomerella cingulata
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How much area is required for raising seedlings

of tomato for one hectare ?

@ 1000 m2

b) 750 m?

(c) 500 m?

() 250 m?2

Which of the following is not a auxin ?
(a). GA4

b) 2, 4-D

()] TAA

(d) NAA

Thread like white lines on the vegetable leaf that

gradually widen are symptom of E
(@) Aphids

(b)  Flee beetles

(e) Army worm feeding

(d) IL.eaf minor
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